24.   She says   that she is living in the flat for ten years   and does not want to leave.     No error

           (a)                                  (b)                                                 (c)                        (d)

Ans : b - Use 'has been' in place of 'is'. 

25.   I'm having a motor cycle   these days   to go to work.     No error

                       (a)                       (b)               (c)                 (d)

Ans : a - Say 'I have a motor cycle'.

Antonyms

Direction (For the 10 items which follow)     Each of the following 10 items consists of a word in capital letters, followed by four words or group of words. Select the word or group of words that is farthest in meaning to the word in capital letters.

26. Ominous

(a) Powerful

(b) Depressing

(c) Encouraging  (Ans)

(d) Hopeless

Solutions :  Ominous  means 'suggesting that something bad is going to happen in future'. So, its antonym will be Encouraging.

27. Fictitious

(a) Detailed

(b) Short

(c) Factual  (Ans)

(d) dull

Solutions :  Fictitious means 'not existing really'. and Factual means 'based on facts'.  So, they are opposite in meaning.

28. Primitive

(a) Forward

(b) Modern

(c) Advanced   (Ans)

(d) Progressive

Solutions :  Primitive means 'belonging. to an early stage in development'. So, its antonym will be Advanced.

29. Adversity

(a) Indigence

(b) Poverty

(c) Prosperity   (Ans)

(d) Perspicacity

Solutions :  Adversity means 'difficult or unpleasant situation' and Prosperity means 'state of being successful'. So, they are furthest in meaning.  

30. Occidental

(a) Ancient

(b) Modern

(c) Oriental  (Ans)

(d) Medieval

Solutions :  Occidental  means 'connected with western part of the world' and Oriental  means 'connected with eastern part of the world'.

31. Scorned

(a) Welcomed

(b) Questioned

(c) Suspected   (Ans)

(d) Hated

Solutions :  Scorned  means 'to show disrespect'. So, its antonym will be Welcomed.

32. Hectic

(a) Steady

(b) Leisurely   (Ans)

(c) Smooth

(d) Boring

Solutions :  Hectic means 'very busy or full of activity'. So, its antonym will be Leisurely.

33.  Arrogant

(a) Humble  (Ans)

(b) Timid

(c) Humorous

(d) Amicable

Solutions :  Arrogant means 'behaving in a proud way'. So, its antonym will be Humble.

34. Repugnant

(a) Agreeable   (Ans)

(b) Sensible

(c) Favourable

(d) Unpleasant

Solutions :  Repugnant means 'feeling dislike or disgust'. So, its antonym will be Agreeable.

35. Rudimentary

(a) Basic

(b) Advanced  (Ans)

(c) Simple

(d) Clear

Solutions :  Rudimentary means 'not highly or fully developed; basic'. So, its antonym will be Advanced.

Synonyms

Direction (For the 5  items which follow)     Each of the following 5 items consists of a word in capital letters, followed by four words or group of words. Select the word or group of words that is most similar in meaning to the word in capital letters.

36. Recompense

(a) Damages

(b) Praise

(c) Compensation   (Ans)

(d) Apology

Solutions :  Recompense means 'money that you are given because you suffered something'. So, its synonym will be Compensation.

37. Fragile

(a) Fragmented

(b) Weak

(c) Breakable   (Ans)

(d) Soft

Solutions : Fragile means 'easily broken or damaged' and so means Breakable.

38. Circumspect

(a) Restrained

(b) Confident

(c) Cautious   (Ans)

(d) Honest

Solutions : Circumspect means 'thinking carefully before doing something' and so means Cautious.

39. Hardly

(a) Visibly

(b) Merely

(c) Barely   (Ans)

(d) Plainly

Solutions : Hardly and Barely both can be used in the sense of 'almost not' and 'just'.

40. Tier

(a) Level   (Ans)

(b) Step

(c) Site

(d) Berth

Solutions : Tier means 'one of the levels in an organization or a system'.

41.  Which  List I with List II and select the correct  answer using the code given below

List I

(Cricket stadium) List II

(Country)

  A. Riverside Ground

  B. Bellerive Oval

  C. Basin Reserve

  D. The Wanderers

  1. South Africa

  2. New Zealand

  3. Australia

  4. England 

Code

      A    B    C    D

(a) 4    3    2    1

(b) 4    2    3    1   (Ans)

(c) 1    2    3    4

(d) 1    3    2    4

42.  Which one of the following diseases is transmitted by a vector ?

(a) Japanese Encephalitis   (Ans)  

(b) Influenza

(c) Tuberculosis

(d) Syphilis

Solutions :  Vector borne disease is one in which pathogenic microorganism is transmitted from an infected individual to another individual, eg, malaria, dengue, yellow fever, plague, sleeping sickness, Japanese Encephalitis.

43. Which one of the following is not a social insect ?

(a) Termite

(b) Ant

(c) Butterfly   (Ans)  

(d) Bee

Solutions :  Social insects  Social insects are insects which live and work in group in order to survive, eg, bees, ants, termites.

44. If we consume only meat, egg and bread, we will develop

(a) marasmus

(b) kwashiorkor

(c) scurvy   (Ans)  

(d) rickets

Solutions :  Scurvy is the disease caused due to deficiency of vitamin-C which is mainly found in citrus fruits like oranges, lemons, grapes.

45. Which of the following animals has the power of regeneration ?

(a) Frog

(b) Lizard   (Ans)  

(c) Tortoise

(d) Turtle 3

Solutions :  Regeneration is the process by which some animals replace or restore their damaged body part so that the original function is restored.

46. Hydrophobia or fear of water may affect a person having

(a) diphtheria

(b) pneumonia

(c) tetanus

(d) rabies    (Ans)  

Solutions :  Hydrophobia is the term used for the disease Rabies, which means fear of water. It is caused by a virus that attacks the central nervous system. It can be transmitted from infected mammals to humans.

47. Which one of the following is an occupational disease ?

(a) Silicosis     (Ans)  

(b) Sickle cell anaemia

(c) Osteoporosis

(d) Goitre

Solutions :  An occupational disease is a disease that occurs as a result of work or occupational activity.

Silicosis   It is caused by over exposure to respirable crystalline silica.

Rest other (given) are deficiency diseases.

Disease                          Caused by deficiency of

Sickle cell anaemia     — Iron

Osteoporosis             — Vitamin - D 

Goitre                      — Iodine

48. Minamata disease, first identified in fish in Japan, is caused due to the poisoning effect of which one of the following heavy metals ?

(a) Chromium

(b) Arsenic

(c) Lead

(d) Mercury     (Ans)  

Solutions :  Minamata disease is a neurological syndrome caused by severe mercury poisoning. It was first discovered in Minamata city of Japan in 1956. It was caused by the release of methyl mercury in the water by chemical factory. The highly toxic chemical bioaccumulated in shelfish  and fish which when eaten by local populace resulted in mercury poisoning.

49.  Which  List I with List II and select the correct  answer using the code given below

List I

(Prominent Indian sports personality) List II

(Sports)

  A.  Limba Ram

  B.  TC Yohannan  

  C.  Michael Ferreira 

  D.  Dingko Singh 

  1.  Boxing

  2.  Archery  

  3.  Billiards

  4.  Athletics 

Code

      A    B    C    D

(a) 2    3    4    1

(b) 1    4    3    2

(c) 1    3    4    2

(d) 2    4    3    1  (Ans)

50.  In India which of the following taxes are levied by the Union Government and not shared between the Union and the State Governments ? 

(a) Income tax

(b) Union excise duties

(c) Custom duties

(d) Corporation tax

Select the correct answer using the code given below

(a) 1, 2, 3 and 4

(b) 1, 2, and 3 only

(c) 3 and 4 only   (Ans)

(d) 1 and 2 only

Solutions :  All the given taxes are levied by the centre. But custom duty and corporate tax are levied, collected and retained by the centre.  Whereas taxes on income other than agriculture income and union excise duty are levied and collected by the centre but shared with the states.
